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Points total to 100
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QUIZ
FOLLOWS



f(1) =800
f(3) = 200
avg rate of change?

(a) (800 — 200)/(3 — 1)

(b) (3—=1)/(800 — 200)

(c) (200 — 800)/(3 — 1)

(d) none of the above
0% 0% 0% 0%
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33422
M —

x—0 T

[

(a) o

(b) 2

(c) 3

(d) none of the above
0% 0% 0% 0%

R v % ™
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xli_>moo f(zx) = —0

(a)z very pos = f(x) very neg

(b)xz very neg = f(z) very pos
(c)z=~0,z#0 = f(z) very neg

(d)none of the above
0% 0% 0% 0%

R Vv > ™
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im f(x) = —c

(d)z=2, z#2 = f(x) very pos

(b)z~2, z#2 = f(x) very neg

(CO)zx=x~2, <2 = f(x) very neg

(d)none of the above
0% 0% 0% 0%

R v > ™
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i, flw) = —oc

(A)x~2, x#2 = f(z) very neg|

(b)z~2, z#2 = f(z) very pos
(CO)zx=x~2, <2 = f(x) very neg

(d)none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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i, flw) = —oc

(a)x~2 = f(z) very neg

(b)z~2,z#2 = f(x) very neg

(C)z~2 <2 = f(x) very neg

(d)none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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(@zx2 = f@)~7 im f(z) =7
T—2

x 2, xFE2
(b) L f@) T @) £ T

(=2, 22 = f(z)=7

(d)none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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(a)z~2 = f(x) very neg im f(z) = —oc
x—2

(b)z=2, 22 = f(z) very neg“

(C)x~x2, z#2 = f(z) very pos

(d)none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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lim (3:133 2 + 8)

r—5

(2) (3)(5%) — (2)(5) + 8

(b)) —c0
(c) o0

(d) none of the above
0% 0% 0% 0%

R v > ™
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323 —2x+ 8

lim (

r—5 r—4
(@) (3)(53) — (2)(5) + 8
(b) —o0
(C) o
(d) none of the above

0% 0% 0% 0%
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303 4+22 ~ 7?7
r— 0

(a) 323

(b) 0

(C) 2z

(d) none of the above

0% 0% 0% 0%
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4° — 33 -+ Sx2 ~ Fele

(a) 4x°

(b) 82

(c) 8

(d) none of the above
0% 0% 0% 0%

R v % ™
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(a) 62°
(b) 7%

(c) 8z3

(d) none of the above

0% 0% 0% 0%
Correct answer; —8g3 |4A=——EESE=S
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62> + 7% — 823
im |8 T Tl =77

r—0 _7:(:5 — x4 + 9.5(:3_

(a) DNE

(b) —8/9

() 6/7

(d) none of the above
0% 0% 0% 0%

R v > ™
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21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

18

0of 5 Topic 0200 O pts




628 + 7% — 823
im |8 T r Tl =77

r—0 _7:[:5 — x4 + 9.5(:3_

(a) DNE

(b) —8/9

() 6/7

(d) none of the above
0% 0% 0% 0%

R v > ™
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425 — 724 4+ 4z
im | AE e AT ) o,

r—0 | =223 4 722 — 4z

(@) =2
(b) 1

(c) -1

(d) none of the above

0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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lim ((Sin:r:) + Vz + 1)

r—>2

(a) DNE
(b)) —c0

(c) (sin2) + v2

(d) none of the above
0% 0% 0% 0%
: S e e
Correct answer: (sin2) + /3“0
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P(z) = (z — 3)8(z? + z + 4)

Q(x) =(x—=3)(5224+92 —7) lim ggg = 77
(a) 1
(b) oo
(C) —oo

(d) none of the above
0% 0% 0% 0%

Correct answer: 0O . 5 . N
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P(z) = (z —3)"(z? + z + 4)

_ . P(x)
Q(z) = (x —3)8(522 + 9z — 7) xl@+ Oty = 77
(a) 0
(b) oo
(C) —oo

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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P(z) = (z —3)"(z? + z + 4)
Q(z) = (x —3)8(522 + 9z — 7) lim =77

(a) 0

(b) &0

(€) —o0

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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P(z) = (z —3)"(z? + z + 4)

Q(z) = (x —3)8(522 + 9z — 7) lim, ggg = 77
(a) 0
(b) o©
(C) —oo

(d) none of the above
0% 0% 0% 0%

Correct answer: DNE | 5 . -

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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P(z) = (z — 3)°(z? +z + 4)
Q(z) = (x —3)8(522 + 9z — 7) lim =77

(a) 0

(b) &0

(€) —o0

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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P(z) = (z — 3)°(—22 —z — 4)

_ - Px)
Q(z) = (x —3)8(522 + 9z — 7) xl@+ o) = 77
(a) 0
(b) o©
(C) —oo

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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lim
xr——1 |20+ 5

(a)1/3

(b) 0

(c) DNE

(d) none of the above
0% 0% 0% 0%

R v % ™
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(a) =

(b) cosx
(c) —coswx

(d) none of the above
0% 0% 0% 0%

R v % ™
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(a) —z3/6

(b)1

(C) z

(d) none of the above
0% 0% 0% 0%

R v % ™
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COSx ~ Fale

(a) —z3/6

(b)1

(C) z

(d) none of the above
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R v % ™
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(a) —z%/2

(b)1

(C) z

(d) none of the above
0% 0% 0% 0%

R v % ™
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Ssine ~ 7?77
x — /2

(a) —23/6
(b) 1

(C) z

(d) none of the above

0% 0% 0% 0%
Correct answer: 1 N 5 . N
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303 4+22 ~ 7?7
r— 0

(a) 323

(b) 0

(C) 2z

(d) none of the above

0% 0% 0% 0%

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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33422
lim : —
x—0 SINx

[

(a) o

(b) 2

(c) 3

(d) none of the above
0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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425 — 724 4+ 4z
im | AE e AT ) o,

r—0 | =223 4 722 — 4z

(@) =2
(b) 1

(c) -1

(d) none of the above

0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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420 — 724 44
lim A e e A S

z—0 | —2z3 4 722 — 4sinx

(@) =2
(b)1

(c) -1

(d) none of the above

0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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Dt° 4 8t
t—0 | t2(sin?t)

(@) 0
(b) oo

(€) —oo

(d) none of the above
0% 0% 0% 0%

Correct answer: 8 N N S N
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/a6 + ot
lm

= 77
0+ t(sint)

(a) DNE

(b) oo

(c)3

(d) none of the above
0% 0% 0% 0%

R v > ™
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- 3 4 -
, x> + x
lim =77

x—0 T — Sin T

(a) DNE

(b) 6

(c)1/6

(d) none of the above
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- 3 4 -
, x> + x
lim =77

x—0 T — Sin T

(a) DNE

(b)—-1/6
(c)1/6

(d) none of the above
0% 0% 0% 0%

Correct answer: 6 . N . .
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SAVE THE

SESSION
DATA

RETURN TO
PRESENTATION



additivity of error
homogeneous vs. inhomogeneous
homog. linear polynomial in z, vy, z

LOOK AHEAD
d/dt and d/ds

chain rule
differentiate exp. fns, log fns



